Histogram

Q1. ”Draw hlstograms for these grouped frequency distributions.
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Q2. The following information was gathered about the weekly pocket money given
to 14 year olds.

a Represent the information about the boys on a histogram.

b Represent both sets of data with a frequency polygon, using the same pair of
axes.

¢ What is the mean amount of pocket money given to each gender? Comment on
your answer.

Q3. The sales of the Star newspaper over 65 years are recorded in this table.

1930-50 | 1951-70 = 1971-80 | 1981-90 = 1991-95 |1995-2000
62000 = 68000 = 71000 | 75000 = 63000 | 52000
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lllustrate this information on a histogram. Take the class boundaries as 1930, 1950,
1970, 1980, 1990, 1995, 2000.
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Q4. The London trains were always late, so one month a survey was undertaken to
find how many trains were late, and by how many minutes (to the nearest minute).
The results are illustrated by this histogram.
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How many trains were in the survey?

How many trains were delayed for longer than 15 minutes?

Q5. All the patients in a hospital were asked how long it was since they last saw a
octor. The results are shown in the table.

| : |
=sh<2 2=<h<4 4<h<6 | 6=sh<10
| 12 | 20 30

Find the median time since a patient last saw a doctor.

Estimate the mean time since a patient last saw a doctor.

Find the interquartile range of the times.

Q6. One summer, Albert monitored the weight of the tomatoes grown on each of his
lants. His results are summarised in this table.

L RN T T T T D
15 28 16 10

a Draw a histogram for this distribution.

b Estimate the median weight of tomatoes the plants produced.

c Estimate the mean weight of tomatoes the plants produced.

d How many plants produced more than 15 kg?
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llustrated in the histograms
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Q7. For each of the frequency distribut
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te down the grouped frequency table,
stimate the median,

1 WI

Iv find the lower and upper quartiles and the interquartile range,

il state the modal group,

v estimate the mean of the distribution.



